CBSE Class 12 Economics Compartment Question Paper 2015 (July 16, Set 1- 58/1)
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Candidates must write the Code on
the title page of the answer-book.
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feam SRR 1 10.15 &1 @ 10.30 s T BT Shael U9-T3 &l Teil 317 39 a1y & SR o
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e Please check that this question paper contains 8 printed pages.

¢ (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.
e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

ST

ECONOMICS
Freia gag -3 902 ] [ 3ferBad 37 - 100
Time allowed : 3 hours | [ Maximum Marks : 100

AT e
(i) 3T @USl & qHT 597 3T & |
(ii) Fod F97 & [TIRT 37 39 GrE- T T & |
(iii) Fo7 9=l - 3 I 15 — 19 371 TqeRieqs® 597 8, o774 7% &7 1 3F & | 37 TP

T IO U JIFT 7 81 79T & |
(iv) T97 &4 — 8 320 — 22 TRIcHF J57 &, [S74 7 &3 37 & | Iedsb & 3R
G 60 ST G 374 &l 817 TR |
(v) T¥TGET9 — 10 323 — 25 1 TIeRIcHE J97 8, 5775 s &4 3 & | e HT 3
=TT 70 5T T 3 781 817 TRT |
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(vi) F¥T G=IT 11 — 14 37726 — 29 15 3TRICHE J97 &, o774 G &6 3% & | G HT 3T
G 100 91T G a6 781 817 TRT |

(vii) 3T Tl T TEIHSE 817 TNET T9T TJIEYT FIT &1 T2 /5 GIHT & 3 &1 /T s
qET |

General Instructions :
(i)  All questions in both the sections are compulsory.
(ii) Marks for questions are indicated against each question.
(iii) Questions No. 1-3 and 15-19 are very short-answer questions carrying 1 mark each.
They are required to be answered in one sentence each.
(iv) Questions No. 4-8 and 20-22 are short-answer questions carrying 3 marks each.
Answers to them should normally not exceed 60 words each.

(v)  Questions No. 9-10 and 23-25 are also short-answer questions carrying 4 marks
each. Answers to them should normally not exceed 70 words each.

(vi) Questions No. 11-14 and 26-29 are long-answer questions carrying 6 marks each.
Answers to them should normally not exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.

U — A
| SECTION - A
. DD'USHMHE ARAIRBIW W a5 & | 1
Y
D
A
S
R) .
O [)" A

T @)
A TS 9T HFT S F A §11 ; (Tl faehed giH0)
(a) BWHTHI AT T HAE |
(b) B U HIT &l A & S{ET & |
(¢) B I HT & AT ATH ¢ |

d) 19F9T |
DD' is a demand curve, A and B are two points on it.
Y

Demand (Units)
Price elasticity of demand at point A 1s : (Choose the correct alternative)

(a) less than elasticity of demand at B.
(b) equal to elasticity of demand at B.

(¢c) greater than elasticity of demand at B.
(d) less than 1.
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2. T@ERA % (o0 &R a%] x Tl G &H T 6 [0 TR FT 3T IUTT T Tehell & 2 1

What economic measure can the Government take to reduce demand for commodity x
which 1s harmtul for health ?

3. IR Hl 4 THAT I 3T R AT T 20 & | 5 THEAT i 3T IRel g T 40 & |

5 THTLAT I AT AN Tl € 2 (Wet fashe gHm) 1
(a) <20
(b) <40
(c) <56
(d) 60

The average fixed cost at 4 units of output is I 20. Average variable cost at 5 units of
output 1s < 40. Average cost of producing 5 units 1s : (Choose the correct alternative)

(a) <20
(b) < 40
(c) <56
(d) <60
4. ‘I IURAHT Dl GHET FT IUH HIT | 3

Describe the problem of ‘what to produce’.

5. 3ATIhaT SHHd HETSH 3T 3R ATEYIHAT i AT HIST | 3

Explain the meaning and need for ‘maximum price-ceiling’.

6. THR A Fga NYH = H G 3R Wil = a6 € | 399 ScA1e QT
T (T5h) hQ TTad 8 2 THEET | 3

The Government establishes a large number of Institutes of science and technology.
How will 1t affect the production possibility frontier ? Explain.

7. R % GEHM U o SFd el SR 3R HHF 3] H B aTel YRacHT ol ST
HIT | 3

Explain the changes that take place i1n total product and marginal product under
diminishing returns to a factor.
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. UHNYHR hl ‘UAY H AL TSIl Shl Hewd THSST | 3
AT

TShHITYhRIHSE UIAINTAT ol “IcaTg [a4g” Ta9IudT Sl Hewd THEET |

Explain the significance of ‘barriers to entry’ feature of monopoly.

OR
Explain the significance of ‘product differentiation’ feature of monopolistic
competition.
9.  Ueh HEATCH 35601 i FeTdal H IEHM HHIT HcATI 8T 3 37 FHEST | 4
AT

Tk 3SEL0T ol TWeTddl 9 STEHE G ST & a9 shi ST iy |

Explain with the help of a numerical example, the meaning of diminishing marginal
rate of substitution.

OR
Explain the Law of Diminishing Marginal Utility with the help of an example.

10, i 3 aREd ST T S TRed § T S A 2 G | 4

Explain the ditference between ‘change in demand’ and ‘change in quantity demaned’.

1. TETREd T U a&] il dTR i O THTE IHEET 6
(i) 3Tl bl HEdT T Ig
(i) U 3ehIe Y H Al
3rexat
MAlAEd & dre 9 sy
(37) M ATTa STR-3TEd uRel ara
@) Hel SN S| AN
Explain the effect of the following on market supply of a good :

(1)  Increase in iput prices
(1) Reduction in per unit tax
OR
State the relationship between :
(a) Marginal cost and average variable cost
(b) Total cost and marginal cost

2. U& a&] &l °N G ARG o Tl Shi SATEAT HIT - 6
(i) 9% STHERT & AT H Iig
(ii) 9! UdATOT T ol HET H ghg

Explain the eftect of the following on the demand for a good :

(1)  Increase 1n income of 1ts consumer
(1) Rise 1n price of its substitute good
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[3. HRUTId U Jd12U b FAteAiad a9 Tel € 91 Toid 6
(i) U o] i 9fd ok 37T &N i hiHd ded I I 3R [@gewal € |
(i)  3TEd AN 3] 3G UNadT3ieT oTd &1 3K e 87 TAT ¢ |

Giving reasons, state whether the following statements are true or false :
(1)  The supply curve of a good shitts to the right when prices ot other goods rise.

(1) The difference between average cost and average variable cost 1s always
constant.

4. U I I U o6 ST 3R RGGH- & 3Teh! e A, HET-HET X Gid-ATET 0 WeTa b
ST Tl AT Ueh TETa i el | HiT | 6

Explain with the help of a diagram the chain of effects of a rightward shift in demand
curve of a good on its equilibrium price, quantity demanded and supplied.

frTeiEd uv shaet gResq URietTterat & [t o9 9= 14 & ®™&H W E |

T %] o AN-STYET 1 37 G | $9h Tqetd i Y WAl i 2FEell i A
PN | 6

The following question 1s for blind candidates only in lieu of Q. No. 14.

Explain the meaning of excess demand of a good. Explain its chain of effects on
equilibrium price.

dqig - d
SECTION - B

15. TS 9 1 a0 i il € 2 (Tl fashed gHu) 1
(a) HRd iR
(b) T 9 1w 2fean
(c) aNuTae® d%
(d) ST 3T

Who regulates money supply ? (Choose the correct alternative)

(a) Government of India
(b) Reserve Bank of India
(c) Commercial Banks

(d) Planning Commission

16. HNT STHT =7 21l & 2 1

What are demand deposits ?
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17. Tr=fafea ° 9 &F 9 To0a Wit T2 & 2 (el fasea giu) 1

(a)  ROT ol TGl

(b)  ToreeT 3+

(c) TSI SEHT o AT
(d) TR R

Which of the following 1s not a revenue receipt ? (Choose the correct alternative).
(a) Recovery of loans

(b)  Foreign grants

(¢) Profits of public enterprises

(d) Wealth tax

18. TT=feiad & | &M |1 WfHe =1 ol Tel 49 & 2 (Wl fohed ) 1
(a) TSTShIE TS 3T TSTE °1S T 37T
(b) TSHE HIE 3R ST YA T 3=
(c) ST =TS AR TS PIA 3TN
(d) TSI 2T 3R T & HT 3T

Which of the following is a correct measure of primary deficit ?
(Choose the correct alternative)

(a) Fiscal deficit minus revenue deficit

(b)  Revenue deficit minus interest payments

(c) Fiscal deficit minus interest payments

(d) Capital expenditure minus revenue expenditure

19. fr=fafaa & | ®E 9126 € 2 (Tl ohea gHn) 1
(a) 99
(b) =4
(¢c) T
(d) <
Which of the following is a stock ? (Choose the correct alternative)
(a) Wealth
(b) Saving
(¢c) Exports
(d) Profits
20. TISIT HET I BT % B ¥ A Fd A&y | 3
SRAT

<IN BT o “3Taqea 3 Jodgid’ o 379 Faey |
Describe any three sources of demand for foreign exchange.

OR
Give the meanings of ‘devaluation and depreciation’ of domestic currency.

21. TUH IFSTRAT H 9T 300 H FgH 500 & ST & | Tqh Horaeyd 3T T Fierd &R 2000
S ST € | W STHT Uei T IRt ity | 3

In an economy investment increases from 300 to 500. As a result of this equilibrium level
of income increases by 2000. Calculate the marginal propensity to consume.
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23,

24.

25.

58/1

Teh Q< Sl Gerddl ¥ SUERI{ahR] 37T 1 37 GHART |
Explain the meaning of deflationary gap with the help of a diagram.

frtelEd o9 shaet e qianterat & fou Uy 9= 22 % ®H W E |

THITAHRT AT 3 STTERITTRR 3T H 95 HIT |
The following question 1s for Blind Candidates only in lieu of Q. No. 22 :

Distinguish between inflationary gap and deflationary gap.

TAH G T & G5 T Fa7ey {6 Fefaiad & Tt € a1 Tod € | 370 3 & o
$HRT T |

(1)
(11)

(1)
(11)

faseT H U U a9t | U o &6t Uit @Td | @ S €

OYTHT & AT o 9Te] @Td § [S@man S € |

In the context of balance of payments account, state whether the following statements
are true or false. Give reasons for your answer.

Profits received from mvestments abroad 1s recorded 1n capital account.

Import of machines 1s recorded in current account.

TSR o W Ihet S¥ME 3cATS 3l URehei i i 39 a19 i AT HieTT | 4

3rerat
T &Y §RT AL 3T T GREA hid GHT T AEadm—a1 (e |R) Sd-1 96l |

Describe the expenditure method of calculating gross domestic product at market

price.

OR

What precautions (any four) should be taken while estimating national income by
expenditure method.

FHRF AN T Febel o Jig T TR i |

(1)
(11)
(iii)
(1v)
(V)
(V1)

(Vi)

SURREED
s H/q1eldH
Heleld
Tl TS
BRI

3Uce] L
foR3T 9 Mot R 2

(T FIST H)

3000
(—) 100
300
2000
500

250

(-) 50

Calculate gross value added at factor cost.

(1)
(11)
(111)
(1v)
(V)
(V1)

(Vi)

Domestic sales

Change 1n stock
Depreciation

Intermediate consumption
Exports

Indirect taxes

Net factor income from
abroad

(% in crores)
3000

(—) 100
300
2000
500
250

(=) 50

[P.T.O.

collegedunia:

India’s largest Student Review Platform



26.

Lk

238.

29.

58/1

TIH o9 ot TUse &3 § MavT i & TOI0 S5 Uicdied & 1 M &l & | 3

TR WeHTET bl ST i 37T 3% 24 o HRUT JaTy |

The Government decides to give budgetary incentives to investors for making
investments 1n backward regions. Explain these possible incentives and the reasons for

the same.

ST o T2l &1 11 ol AT BT |
3Teran
H51T o & (el g1 T HE] i ARAT Hio |

Explain any two functions of money.

OR
Explain any two main functions of Central Bank.

Ush IR U TR 93, U Sced 9 314k € | STegae | g aret Tl uied

%! SNAT HITSTT |

In an economy planned spending i1s greater than planned output. Explain all the

changes that will take place in the economy.

ARG 3TeRel ¥ (1) INTR Jod Ihel T 3. (ii) Fae T TaST 31T 6l TR

HIT -

(i) SATTST

(ii) HUANAT T TLATHE
(iii) TR

(iv) ToTee (Hodge)

(V)

ST
(Vi) TSI =l Mol R 3T
(vi) T 3T

(viii)  THE 3TcTeT o

(1X) AT

(X) [oReT Sl HaeT =Te] S&TaoT

(T TSI )
300
3000
500
200
300
100
5000
400
1500
(-) 50

4, 2

From the following data calculate (1) Gross national product at market price and

(11) Net national disposable income :

(1) Dividends

(11) Compensation of employees
(111) Rent

(1v) Depreciation

(V) Interest

(V1) Net factor income to abroad
(vil) Mixed income

(vi1)  Net indirect taxes
(1X) Profit
(X) Net current transfers to abroad

(X in crores)
300

3000
500
200
300
100

5000
400

1500

(=) 50
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